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This research has an objective to create the new model for evaluating the
performance and efficiency of the machine. This model is built as purpose to solve the
problems that occurred in Overall Equipment Effectiveness (OEE) indicator. OEE is the
main indicator of TPM, which focuses on machine maintenance. This indicator
emphasizes how to find loss in the machine with no consideration of production cost. As
considering the priority between the machine without regarding the machine capacity,
production cost and value of the products, it could cause the improper priority to the
machine. Therefore, the researcher has built a new model and also designed the
program for recording and evaluating the data.

In the case study that the machine had been implemented, the result
represented that the Coating Machine 2, which had the highest OEE at 77.3 %,vwas not
the machine that had the lowest production loss value. The machine’s overall production
loss value costs 18.85 MB. For the Hatscheck 1, the machine that has even the least
production loss value costs 10.25 MB., has the OEE only 70.4 %. This OEE is lower than
the one found in the Coating Machine 2. The data represents that the OEE cannot
sequence the problems appropriately because of the differences of the machines,
included production capacity, production cost and the value of the proélucts. These all
differences will directly affect to the production loss value of each machine.
Consequently, the new model in this research has been built to solve these OEE
problems. This model can sequence the problems of each machine by calculating the

production loss and represents the results as the monetary unit. Y4





